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B | K& OUT IN [/aRr HDCP =y b|| B |[K#& ZBaZx HDCP Ak
101 I |5 T2 47 55 102 0.0 102.0
102 fif |3zl = 53 50 | 103 0.0 103.0
103 fif | #5K RAAR 53 50 103 0.0 103.0
104 {i |/NE BRIE 51 53 | 104 0.0 104.0
105 I | &ZH TR 50 b4 104 0.0 104.0
106 {2 |38 E—HR 49 55 104 0.0 104.0
107 1 | &Il Eth 49 55 | 104 0.0 104.0
108 I | ®X 46 58 | 104 0.0 104.0
109 i | dh#f 2 51 54 105 0.0 105.0
110 fi | & Sy 52 54 | 106 0.0 106.0
111 {2 | /% Bt 54 54 | 108 0.0 108.0
12 {2 | lWLE &5 53 57 110 0.0 110.0
113 {i1 | KiF —% 46 64 | 110 0.0 110.0
114 i |[#H:8 85 56 55 111 0.0 111.0
115 {iL | &R = 53 61 114 0.0 1140
116 1 | WWFE FsE b8 57 115 0.0 115.0
117 I | #A0F #6528 59 58 117 0.0 117.0
18 fii | &F &— 61 57 | 118 0.0 118.0
119 41 | ¥ fAER 64 56 | 120 0.0 120.0
120 4 | B0 % 66 62 128 0.0 128.0
121 1 |l TR 62 69 | 131 0.0 131.0
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et JE& 0 JOUT IN [FBR HDOP wwib | MEfr fE& [OUT  IN |[ZBEXR HDGP ey b
16| &A FE 34 35 69 0.0 69.0 ol I | FE AE 41 46 87 0.0 8.0
2 fi |t A 34 36 70 0.0 70.0 52 1 | 5L Rl 41 46 87 0.0 81.0
3 L [/hHk fEBA 3 37 72 0.0 72.0 53 1z | B H 41 46 87 0.0 8.0
4 £ Rl =& 37 36 73 0.0 73.0 o4 fiI | TE HX 42 46 88 0.0 88.0
5 1 |FhH &R 35 38 73 0.0 73.0 55 i | XA BA 42 46 88 0.0 88.0
6 i |E# B 36 39 75 0.0 75.0 56 fiI | BB B 42 46 88 0.0 88.0
7 {1 |f8/R Bh—EA 38 38 76 0.0 76.0 57 {7 | =R &R 47 42 89 0.0 89.0
8 i | BH KB 37 39 76 0.0 76.0 58 i | /hizLl —BR 47 42 89 0.0 89.0
9 I | 5IH S 37 39 76 0.0 76.0 59 fi | lUE KZE 46 43 89 0.0 89.0
10 {1 |EHE BE 38 39 71 0.0 77.0 60 i |JFHE iE— 45 44 89 0.0 89.0
11 i1 | &+ #3R 38 39 77 0.0 7710 61 7 | BAR 45 44 89 0.0 89.0
12 fii | AR HE 42 36 78 0.0 78.0 62 fii | f&A 47 45 44 89 0.0 89.0
13 fu | o0& FLA 38 40 78 0.0 78.0 63 fi | F—ER 43 46 89 0.0 89.0
14 1 |2 &F 37 41 78 0.0 78.0 64 fi | LUF &E— 43 46 89 0.0 89.0
15 fi | KIIF 3h& 37 41 78 0.0 78.0 65 fi | i & 41 48 89 0.0 89.0
16 f1 | BEA 42 37 79 0.0 79.0 66 {7 E#H Bt 44 46 90 0.0 90.0
17 fi [ /MR INKER 41 38 79 0.0 79.0 67 fi | MMEF fHEisE 43 47 90 0.0 90.0
17 {3 | RAZE ik 41 38 79 0.0 79.0 68 i | /NiE HE— 42 48 90 0.0 90.0
19 fu | ®#| Bz 40 39 79 0.0 79.0 69 fZ | FFH Kt 41 49 90 0.0 90.0
20 1 |3t F= 38 41 79 0.0 78.0 10 fi1 | &id B 49 42 91 0.0 9.0
21 I | B #3IE 38 M 79 0.0 79.0 N o FEE < 48 43 91 9.0 9.0
2 | KZE #2 38 41 79 0.0 79.0 12 fiI | B FF 45 46 91 0.0 91.0
23 £ | EA 37 43 80 0.0 80.0 73 41 | #1 Tk 45 46 91 0.0 91.0
24 i | B3R JERER 44 37 81 0.0 81.0 14 fiI | /IN#EE 43 48 91 0.0 91.0
25 fif | #— 39 42 81 0.0 81.0 15 fir | /h# BE 48 45 93 0.0 93.0
26 £ | Fg $hT 39 42 81 0.0 81.0 16 fi | 7% FZ 44 49 93 0.0 93.0
27 {1 |=FE)I # 38 43 81 0.0 81.0 17 1 | HE%rdE X 50 44 94 0.0 940
28 fu | B= 48 34 82 0.0 82.0 8 i HE —& 46 48 94 0.0 94.0
29 {u [$nK @ 43 39 82 0.0 82.0 9 1| /BN &X 43 b1 94 0.0 940
30 i [t ZEHE 42 40 82 0.0 82.0 80 fi | &K & 53 42 95 0.0 95.0
31 fu |{EH 42 40 82 0.0 82.0| 81 i |7k && 47 48 95 0.0 950
32 41 (B EA 42 40 82 0.0 820 82 i |1H REE 47 48 95 0.0  95.0
33 i [iEE 8\ 44 39 83 0.0 830 83 fi | & sri 51 45 96 0.0 96.0
34 i [FHE BBZ 42 4 83 0.0 830 84 fiI | B B 47 49 96 0.0 96.0
35 i1 | EER M 40 43 83 0.0 830 85 fiI | EA& 1A 53 44 97 0.0 97.0
36 fi | TIF TH 40 43 83 0.0 83.0 86 fiI | Z# EA 48 49 97 0.0 97.0
37 fi |#h K F— 45 39 84 0.0 840 87 fu | Bi#R E& 46 52 98 0.0 98.0
38 fir | #fE] E5A 42 42 84 0.0 840 88 fiu | LiEEF HX 46 52 98 0.0 98.0
39 f ik & 40 44 84 0.0 840 89 i | FEk R 44 54 98 0.0 98.0
40 fi | #nK {RAER 39 45 84 0.0 840 90 {31 | R¥t BR— 51 48 99 0.0 99.0
4 1| EB +=5 45 40 85 0.0 85.0 9 [N BEL 49 50 99 0.0 99.0
42 L | MriE & 43 42 85 0.0 850 92 i | BR %= 47 52 99 0.0 99.0
43 fu | 1al E— 41 44 85 0.0 850 93 fi | kM %ESH 47 52 99 0.0 99.0
44 {iI | 4% ez 40 45 85 0.0 850 94 i | ILE =8 52 48 | 100 0.0 100.0
45 {I | & FE 39 46 85 0.0 850 95 fi | /NEFSE EA 52 48 | 100 0.0 100.0
46 1 |IRZE [ 37 48 85 0.0 850 96 fi | A HER 50 50 | 100 0.0 100.0
47 47 | BRER —F 44 42 86 0.0 86.0 97 i | FTEB BEK 49 61 | 100 0.0 100.0
48 {1 | B&) Efb 43 44 87 0.0 87.0 98 fiu | hEF F 49 51 | 100 0.0 100.0
49 fI |FIAE BE 42 45 87 0.0 87.0 99 i [ LA K3w 49 61 | 100 0.0 100.0
50 fif | Bt Ex 42 45 87 0.0 87.0| 100 {I | #F#2 J¥ER 65 47 | 102 0.0 102.0




